[image: image1.emf]




I Monthly Test – Business Studies

Class : XI 








Date : 26/6/19

Time : 1½ hrs







Total Marks : 50

I. Answer all the questions 





10 x 1 = 10
1. The possibilities of inadequate profits or even losses due to uncertainties are known as ____________
(a) Business contingencies  
(b) Business risks
(c) Business ventures     

(d) None of these

2. Which one of the following may not be a factor behind starting a business?
(a) Routine workload 

(b) size of the firm 
(c) finance 



(d) location of the business

3. Name the two broad categories of business activities.
(a) Trade and commerce 

(b) trade and industry 
(c) industry and commerce
(d) none of these

4. Commerce includes activities relating to trade and _________________ to trade.
(a) Supporting 


(b) subsidiaries 
(c) auxiliaries 


(d) none of these

5. Documents such as ​​​​​​​​______________ and Chitti were in use for carrying out transactions.
6. In which form of Business profits are not shared?

a. Partnership    b. Sole proprietorship   c. Company   d. Joint Hindu family

7. Give the name of type of Business formation found only in India.

a. Co-operative society   b. Joint Hindu family    c. Micro finance    

d.  None of these

8. The Karta in Joint Hindu family Business has

a. limited liability  b. unlimited liability    c. no liability for debts  d. joint liability

9. Transfer of interest exists in the case of 
a. Profession          b. employment            c. business    d. none of these
10. Chaanu and Maanu are brothers. They both own companies. Chaanu’s company is engaged in the collection and extraction of gems, whereas Maanu’s company produces fine jewellery using the stones and gems supplied by Chaanu’s company. Maanu’s company falls under which type of industry?

a. Genetic              b. Tertiary                    c. Secondary     d. Extractive 

  II. Answer in Short 







5 x 3 = 15
1. ABC Ltd is organizing an event to plant trees on road side. What type of objective is it trying to fulfill? Explain.
2. Profit does not have to be shared. Which form of business does this statement refer to? Justify your answer with 2 points.
3. Differentiate Dhani-jog in Darshani and Muddati type of Hundi.
4. State and explain 3 limitations in Joint Hindu Family Business.
5. NathuLal prepares ‘sonpapri’ for customers during Diwali season every year. He prepared more ‘Sonpapari’ than he could sell this year. He employed women and children also and paid them less salary manufacturing on the packages. This way he generated profit for himself.
(a)Do you think he is fulfilling all the objectives of business?

 (b) If not which aspects of the objective is not being fulfilled?
III. Answer in detail. 
      Marks are specified against the respective questions
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1. What are the factors to be considered while starting a business. 

Explain any six.








[6]
2. Differentiate Business, Employment and Profession based
(i) Reward or return

(ii) Mode of establishment
(iii) Capital investment 

(iv) Code of conduct







[4]
3. The Business assets of an organization amount to Rs. 50,000 but the debts that remain unpaid are Rs 80,000. What course of action can the creditors take if

(a) The organization is a Sole proprietorship firm

(b) Partnership firm with Anthony and Raghav as partners

[4]
4. In which form of Business can Minors become members? Explain two merits and limitations of this business form.




[5]
5. Draw the chart showing the classification of Business activities.

[6]
